REVISION THEME 6,7
WEEK 4 (13/04/2020 — 18/04/2020)
. CHOOSE THE CORRECT ANSWER:
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II. FILL IN THE BLANK,
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What should we put our poster?

under

An activity where people run to raise money for charity.

craft fair b. volunteer
Teens can also

organize b. plant
Students can plastic bottles.
recycles b. recycle

Pens, pencils, paper, notebooks and other things for writing.

toothpaste b. stationery c. gift
Having a husband or wife.
information b. married c. reduce
People will the causes and effects of overpopulation.
understand b. understanding  c. to understand
There is a lot of pollution overpopulation.
because of b. because c. why
A group of people who run the country.
information b. understand c. government
More girls should to college and university.
go b. going c.to go
How many babies are born each year for every 1000 people.
death rate b. birth rate c. disease

there are too many cars.
Because of b. Why c. Because
The death rate can because of better medicine.
decrease b. increase C. cause
___does Germany have a high life expectancy?
When b. Why c. What
People should fewer children.
has b. having c. to have

b. in

C. on

c. event

things like plastic bottles and paper.

c. clean

c. recycling

S CORRECT FORMS OF THE VERBS

5. They want

. They need...........
2. Charities will

people about the charity. (tell)

them to poor children in other countries. (deliver)
a fair for charity. (organize)
4. What would you like........cccccoeevieeiiiiennnnns ? (donate)
trash. (recycle)

HI. READ THE PASSAGE AND WRITE TRUE OR FALSE

The population of Vietnam has changed a lot since 1990. In 1990, the population was over 66 000
000, while in 2014, it was over 93 000 000. The main cause for this change is that Vietnam’s birth
rate is higher than its death rate. The death rate has decreased as life expectancy has increased. In
1990, life expectancy was 70, while in 2014, it was 76. It has increased because more people have
better diets. Also, they now spend more money on healthcare. Since 1990 Vietnam’s population

has increased a lot.

1.
2.

3.

The population of Vietnam has changed a lot since 1980.
The main cause for this change is that Vietnam’s birth rate is lower than its death rate
In 1990, life expectancy was 70, while in 2014, it was 76.

d. of

d. fun run

d. recycle

d. to recycle
d. shoebox
d. few

d. understands
d. what

d. few

d. goes

d. healthcare
d. What

d. few

d. Who

d. have



4. People now spend more money on food.

1V. READ THE PASSAGE AND CHOOSE THE CORRECT ANSWER

Nowadays, many people move (1) big cities, but life isn’t always easy there. There
(2) enough houses for everyone, so lots of people live in slums. Dharavi, in the
center of Mumbai, is one of the (3) slums in the world. About one million people
live there. There’s a lot of crime in big cities that have big slims. It’s because some people don’t
(4) jobs to make enough money to live. To solve this problem, people should
&) only one or two children so there will (6) smaller
population. It’s also important to build more houses for poor people in big cities, so there won’t
be too many slums.

1. A. at B. to C. with D. in

2.A.1s B. be C.isn’t D. aren’t

3. A. larger B. largest C. large D. more large
4. A. has B. have C. to have D. having

5. A. have B. has C. to have D. haves

6. A. be B. am C.is D. are

V. REWRITE THESE SENTENCES WITHOUT CHANGING THEIR MEANINGS
1. four big causes/ overpopulation/ There are/ of/.

2. What/ overpopulation?/ the effects of/ are/

3. reduce/ world population?/ How/ can we/

4. would/ What/ to donate?/ you like/
5. Why don't we recycle plastic bottles at home?
2 HOW @DOUL. ..o
The end.



